Solve the problems. Match the answers to the numbers in the picture and color using
the correct marker or colored pencil.

9
55

+

2,
3

bbrown

+

45
17

blue

6:8

2.8

62
|30 .@ 130
62
62 |30
99 7 4
130 9] 9

130

99
+ 23 + 7? 7l
. — 62 99 =
' L 99
- 91\ /62
purple red 05
130 - é 130
| | 16
7: ] 98 166
! ! 9l
+ 59 + 53 o (3 66 62
o Lo 62 9 62
130
blue black 130y 105 130\ 62 64
’
54 2.8 / 130\ sy 62
+ U5 + 592 62 e
| | 130 (6¢) oM 130
| 62 130 0z
yellow orange
© 2024 TOUCHMATH TouchMath Weekly Funsheets G3-G4



Skip count by 3 to 30 shading each square as you move left to right. Then draw a path

through the maze.
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